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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-The special day has become a commercialized holiday, ... the exchange of gifts such as chocolates,
flowers, and greeting cards.
1) and promoted retailers 2) promoting retailers
3) with retailers promoting 4) having retailers promoted

2-The Great Barrier Reef, located off the coast of Australia, is the world’s largest coral reef system, ...
over 1,400 miles.

1) it stretches 2) stretched it
3) and stretching 4) and stretches
3-There are many people who like to buy on the installment plan; I prefer, ..., to pay in cash.
1) moreover 2) however
3) yet 4) while

4-The whole day, she observed the birds, with a pair of binoculars, ... their nest in the tree, using
twigs and leaves collected from the nearby meadow to construct their home.

1) building 2) while being built
3) built 4) who were building

5-The musician, ... were electrifying performances, captivated audiences with mesmerizing melodies.
1) at which concerts 2) that his concerts
3) at whose concerts 4) at his concerts of whom

6-The expedition faced unanticipated terrain challenges, or they ... the summit earlier than planned.
1) would have reached 2) had reached
3) reached 4) would reach

7-She remained undecided on ... a career in academia or venture into the corporate world, weighing
the pros and cons of each option.

1) if to pursue or not 2) pursuing whether
3) which to pursue 4) whether to pursue
8-By the time the ambulance reached the scene, the injured hiker ... to safety.
1) already airlifted 2) had already airlifted
3) was already airlifted 4) had already been airlifted
9-Facing technical issues, I took my computer to the service center and ... to restore optimal
performance.
1) had been repaired 2) had it repaired
3) it had repaired 4) had repaired it

10-It’s disheartening when you consistently avoid taking responsibility for the consequences of your
behavior; I wish ... more accountability for your actions.
1) you were shown 2) to show you
3) you would show 4) you had shown
11-In the freezing cold of this wintry morning, it appears that their car won’t start, and ... either,
leaving both parties stranded and grappling with the inconvenience of the situation.
1) neither will our car 2) ours won’t
3) nor does our car 4) our car won’t too
12-Somebody who is committed to lifelong learning cultivates a growth mindset, continuously seeking
new knowledge, adapting to challenges, and embracing opportunities for personal and professional
development, ...?
1) don’t they 2)isn’t he 3) doesn’t he 4) aren’t they
13-Among the tall trees of the forest ..., with its branches reaching towards the sky, a symbol of
strength and resilience in the midst of nature’s embrace.
1) a majestic oak stood 2) did a majestic oak stand
3) stood a majestic oak 4) does a majestic oak stand
14-My mother would rather we ... each other once a week instead of spending half an hour on the
phone every night.
1) email 2) have emailed 3) should email 4) emailed
15-He ... about the presentation; his thorough preparation and confident delivery impressed everyone
in the audience, earning him commendation from his colleagues.
1) ought to have worried 2) need not have worried
3) must have worried 4) would not have worried

forum.konkur.in


http://forum.konkur.in/
http://konkur.in/

www.konkur.in

&

¥ iio b3 1 yasio olais VEo 30,0, VY (03] 8% 855

Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.

16-1t is difficult to ... progress in your career if you leave a trail of damaged and unsolved
relationships behind you.
1) do 2) take 3) make 4) get

17-Last fall, we ... our own line of organic fruit juices, and that was when things really started to take off.
1) drove 2) launched 3) hired 4) employed

18-The young singer has attracted quite a devoted ... in Japan — her concerts there are always sold out.
1) gig 2) hit 3) following 4) choir

19-The scientists ... that nearly two-thirds of the continent has become drier over the past sixty years
and I don’t think that’s good news.
1) process 2) condemn 3) contribute 4) estimate

20-In some societies, the people ... the foundation of the government, with the power to elect
representatives and shape the direction of the nation through their collective voice.
1) alter 2) constitute 3) predict 4) disperse

21-By fostering a culture of social ..., we can help reduce corruption and ensure that government
spending aligns with the public’s priorities and needs.

1) media 2) accountability 3) intervention 4) network
22-The twins were so ... in appearance that even their own parents sometimes struggled to tell them apart.
1) identical 2) adequate 3) superficial 4) imminent

23-She ... asked her boss if she could leave work early to attend her daughter’s school play, fearing
the request might be denied.

1) hesitantly 2) confidently 3) uniquely 4) fluently
24-His reasoning was so ... that the board members were left puzzled, trying to decipher his main point.
1) rational 2) apparent 3) obscure 4) coherent

25-Physical therapists sometimes ... the patient’s vital signs during exercise sessions to ensure
activities do not overly strain the heart.
1) ignore 2) support 3) monitor 4) constrain

26-The ... of rice requires a great deal of water, which is why it is commonly grown in regions with
abundant rainfall or access to irrigation.
1) consumption 2) cultivation 3) confrontation 4) conspiracy

27-The IT department was praised for their ability to give a/an ... response to software issues and
provide effective solutions.

1) ironical 2) ethical 3) effortless 4) prompt

28-Despite the company’s efforts to revitalize sales, there was a noticeable ... in revenue over the past quarter.
1) boost 2) surge 3) decline 4) margin

29-Bus services between Town Centre and Newton Housing Estate will be ... until the motorway is repaired.
1) discontinued 2) suspended 3) halted 4) ceased

30-Levy Rozman came to my ... with a cheque of $200 to pay my room rate, after I told him that my
wallet had been stolen.

1) attendance 2) assistance 3) security 4) safety
31-The moon, being much nearer to the Earth than the Sun, is the ... cause of the tides.
1) principal 2) basic 3) initial 4) elementary

32-The project was done in a very ... manner, with clear goals and timelines, and every step was
carefully planned and executed by the team members.
1) systematic 2) random 3) philanthropic 4) haphazard

33-After a thorough investigation, it was revealed that the ... behind the cyber-attack was an insider
with access to sensitive information.

1) mystery 2) pursuit 3) motive 4) culprit

34-The writers didn’t appreciate being told to ... their masterpieces for a wider audience.
1) weigh up 2) dumb down 3) put out 4) wind up

35-As the balloon began its historic ..., someone nearby questioned the usefulness of this new invention.
1) jump 2) stride 3) run 4) ascent
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Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.
36-
1) I remembered to give my assignment to my tutor because I have spoken to her about it, although she
insisted that she has never received it.
2) I remembered to give my assignment to my tutor because I had spoken to her about it, although she
insisted that she had never received it.
3) [ remembered giving my assignment to my tutor because I have spoken to her about it, but she insisted
that she has never received it.
4) I remembered giving my assignment to my tutor because I had spoken to her about it, but she insisted
that she had never received it.
37-
1) My parents would love it if I became a doctor, but I’'m not sure I’d be able to face all those years of study.
2) My parents will love it if | became a doctor, and I’'m not sure I’d be able to face all those study years.
3) My parents would love it if [ become a doctor, but I’m not sure I’d be able facing all those years of study.
4) My parents will love it if I become a doctor, and I’'m not sure I’d be able facing all those study years.
38-
1) To see earth from outer space highlights how tiny and fragile is our planet.
2) Seeing earth from outer space highlight how tiny and fragile is our planet.
3) Seeing the earth from outer space highlights how tiny and fragile our planet is.
4) To see the earth from outer space highlight how tiny and fragile our planet is.
39-
1) Although for them to face numerous obstacles, not only did they complete the marathon but also raised
a significant amount of money for charity.
2) Although having faced numerous obstacles, they not only completed the marathon but also raised a
significant amount of money for charity.
3) They completed not only the marathon but also raised a significant amount of money for charity,
despite being faced numerous obstacles.
4) Not only they completed the marathon but also raised a significant amount of money for charity, in
spite of them facing numerous obstacles.
40-
1) The library, located in the center of the city, stands as a guardian of knowledge, which connects the
past and present, and serves as a beacon for the future.
2) The library is stood as guardian of knowledge, located in the center of the city, connects the past and
present, and serves as a beacon for the future.
3) Serving as a beacon for the future, located in the center of the city, the library is stood as guardian of
knowledge, and it connects the past and present.
4) Located in the center of the city, the library where stands as a guardian of knowledge, connects the
past and present, and serving as a beacon for the future.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Have you met our new neighbor yet?

B: I talked to him last night but he’s ...(41)... . He only gave one-word answers to all my questions!
A: Well, ...(42)... . I’'m sure we’ll find out more about him as time goes on. Maybe he’s not that talkative.
B: Maybe. But I felt frustrated talking to him for just a few minutes. Anyway, I’m working on
not ...(43)..., so I’ll put my best foot forward!

A: Good plan. You never know what may come. Let’s invite him over for dinner and see if he

opens up.
41-1) a blessing in disguise 2) a shoulder to cry on

3) cool as a cucumber 4) a hard nut to crack
42-1) every cloud has a silver lining 2) you can’t judge a book by its cover

3) arolling stone gathers no moss 4) don’t count your chickens before they hatch
43-1) beating a dead horse 2) driving a hard bargain

3) burning bridges 4) biting the bullet
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A: The team seems to be dominating the league lately.

B: Absolutely. Their strategy is ...(44)... , with each player knowing their role perfectly.

A: It’s like they’re unstoppable.

B: Definitely. I think they’re on track to ...(45)... and become one of the top teams in Europe.
A: No doubt about it. Their consistent performance speaks volumes about their potential.

44-1) running like clockwork

3) making a mountain out of a molehill

45-1) shoot the breeze
3) kick the bucket

2) facing the music
4) flying the coop
2) hit the big time
4) play it by ear

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.

Erno Rubik first studied sculpture and then later architecture in Budapest, where he went on to
become a teacher of interior design. It was while he was working as a teacher ...(46)... the preliminary
work on an invention that he called the “Magic Cube”. Rubik was ...(47)... by geometric puzzles such
as the Chinese tangram, a puzzle consisting of various triangles. However, unlike the tangram, which
is two-dimensional, Rubik was more interested in investigating ...(48)..., such as the cube, could be
moved and combined to produce other forms.

His design consisted of a cube made up of layers of individual smaller cubes, and each smaller
cube could be turned in any direction except ...(49)... . To ensure that the cubes could move
independently, without falling apart, Rubik first attempted to join them together ...(50)... . However,
this proved to be impossible, so Rubik then solved the problem by assembling them by means of a
rounded interior. ...(51)... to move smoothly and easily. He experimented with different ways of
marking the smaller cubes, but ...(52)... the simple solution of giving a different color to each side. The
object was to twist the layers of small cubes so that each side of the large cube was ...(53)... in color.

Rubik took out a/an ...(54)... for the Cube in 1977 and started manufacturing it in the same year.
The Cube came to the attention of a Hungarian businessman, Tibor Laczi, who then demonstrated it
at the Nuremberg Toy Fair. When British toy expert Tom Kremer saw it, ...(55)... it was amazing and

he persuaded a manufacturer, Ideal Toys, to produce 1 million of them in 1979.

46-1) who began
47-1) inspired
48-1) three-dimensional forms

3) how three-dimensional forms

2) that he began
2) originated

3) and began
3) admired

4) and beginning
4) deducted

2) forms which are three-dimensional
4) and forming three-dimensional

49-1) diagonally 2) unwittingly 3) conspicuously 4) reluctantly
50-1) elastic bands used 2) elastic bands were used
3) using elastic bands 4) and use elastic band
51-1) He was permitted 2) This permission was
3) They permitted 4) This permitted them
52-1) looked askance at 2) ended up with 3) ran into 4) ironed out
53-1) profound 2) futile 3) cohesive 4) identical
54-1) intervention 2) compliment 3) patent 4) expense
55-1) he thought 2) thinking 3) thought 4) he was thought

Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

A seventeenth-century theory of burning proposed that anything that burns must contain material
that the theorists called “phlogiston”. Burning was explained as the release of phlogiston from the
combustible material to the air. Air was thought essential, since it had to provide a home for the
released phlogiston. There would be a limit to the phlogiston transfer, since a given volume of air
could absorb only a certain amount of phlogiston. When the air had become saturated, no additional
amounts of phlogiston could leave the combustible substance, and the burning would stop. Burning
would also stop when the combustible substance was emptied of all its phlogiston.

Although the phlogiston theory was self-consistent, it was awkward because it required that
imaginative, even mysterious, properties be ascribed to phlogiston. Phlogiston was elusive. No one
had ever isolated it and experimentally determined its properties. At times it seemed to show a
negative weight: the residue left after burning weighed more than the material before burning. This
was true, for example, when magnesium burned. Sometimes phlogiston seemed to show a positive
weight: when, for example, wood burned, the ash weighed less than the starting material. And since
so little residue was left when alcohol, kerosene, or high-grade coal burned, these obviously different
materials were thought to be pure or nearly pure phlogiston.
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In the eighteenth century, Antoine Lavoisier, on the basis of careful experimentation, was led to
propose a different theory of burning, one that required a constituent of air—later shown to be
oxygen—for combustion. Lavoisier’s interpretation was more reasonable and straightforward than
that of the phlogiston theorists. The phlogiston theory, always clumsy, became suspect, eventually fell
into scientific disrepute, and was replaced by new ideas.
56-What does the passage mainly discuss?

1) The chemical composition of phlogiston

2) Attempts to explain what happens when materials burn

3) Limitations of seventeenth-century scientific theories

4) The characteristics of the residue left after fires

57-The ‘phlogiston transfer’ mentioned in paragraph 1 is a term used to describe the ... .

1) natural limits on the total volume of phlogiston

2) absence of phlogiston in combustible material

3) ability of phlogiston to slow combustion

4) release of phlogiston into the air from burning material

58-The author mentions “magnesium” in paragraph 2 as an example of a substance that ... .

1) seemed to have phlogiston with a negative weight

2) leaves no residue after burning

3) was thought to be made of nearly pure phlogiston

4) was thought to contain no phlogiston

59-The “different materials” mentioned in paragraph 2 were considered different because they ... .

1) required more heat to burn than other substances did

2) burned without leaving much residue

3) were more mysterious than phlogiston

4) contained limited amounts of phlogiston

60-Which of the following is true of both the phlogiston theory of burning and Lavoisier’s theory of burning?
1) Both theories propose that total weight always increases during burning.
2) Both theories are considered to be reasonable and straightforward.
3) Both theories have difficulty explaining why residue remains after burning.
4) Both theories recognize that air is important to combustion.

PASSAGE 2:
Black History Month is an annual celebration of the achievements and contributions of African
Americans to the history and culture of the United States. It is observed in February, coinciding with
the birthdays of two prominent figures in African American history: Frederick Douglass and
Abraham Lincoln.

The origins of Black History Month can be traced back to 1915, when historian Carter G.
Woodson and other prominent African Americans founded the Association for the Study of Negro
Life and History (ASNLH). The ASNLH sponsored a national Negro History Week in 1926, choosing
the second week of February to honor Douglass and Lincoln. The event inspired schools and
communities across the nation to organize local celebrations, lectures, and performances.

In the 1960s, the civil rights movement and the growing awareness of black identity led to a greater
interest in black history among the general public. In 1976, President Gerald Ford officially
recognized Black History Month, urging Americans to “seize the opportunity to honor the too-often
neglected accomplishments of black Americans in every area of endeavor throughout our history.”

Since then, every U.S. president has issued a proclamation for Black History Month, and the event
has also been adopted by other countries, such as Canada, the United Kingdom, and Ireland. Black
History Month is a time to celebrate the diversity and richness of the African American experience
and to acknowledge the struggles and achievements of black people in the past and present.

61-According to the second paragraph, the ASNLH was responsible for ... .

1) creating Black History Month with the support of President Gerald Ford

2) founding the Association for the Study of Negro Life and History

3) sponsoring a national Negro History Week to honor Douglass and Lincoln

4) inspiring schools and communities to organize year-long celebrations

62-Why has the author mentioned the following quote from President Gerald Ford in the third
paragraph?

“Seize the opportunity to honor the too-often neglected accomplishments of black Americans in
every area of endeavor throughout our history.”

1) To persuade the readers to participate less in Black History Month activities but learn more about
black history

2) To criticize the previous administrations and policies that ignored or marginalized black history and
achievements

3) To emphasize the importance and value of black history and culture in the United States and its
diverse fields

4) To contrast the different attitudes and perspectives of black and white Americans towards their own
history and identity
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63-The word “proclamation” in the fourth paragraph can best be replaced by ... .
1) personal opinion 2) inauguration
3) public speech 4) declaration

64-Which of the following questions is NOT answered in the passage?
1) Who were the two prominent figures in African American history born in February?
2) What are some of the sources and methods that historians use to study the achievements of African Americans?
3) What are some of the countries that celebrate Black History Month?
4) How did the civil rights movement and the growing awareness of black identity lead to the recognition
of Black History Month by the U.S. government?

65-What best describes the organization of the passage?
1) The passage compares and contrasts the different ways that Black History Month is celebrated in the United
States and other countries, then provides some examples of prominent figures and events in black history.
2) The passage describes a chronological sequence of events that led to the establishment of Black
History Month, then discusses some of the challenges and controversies that it faced.
3) The passage presents a problem of the lack of recognition of black history in the United States, then
proposes a solution of creating Black History Month.
4) The passage introduces the topic of Black History Month, then explains its origins, its significance, its
position in the United States, and its adoption by other countries

PASSAGE 3:

Forces other than damaging winds are also at work inside tornadoes. Sometimes, as the writhing,
twisting funnel passes over a house, the walls and ceiling burst apart as if a bomb had gone off inside.
This explosion is caused by the low air pressure at the center of a tornado.

The pressure at the center of a tornado is usually 13 pounds per square inch. However, inside the
house the air pressure is normal, about 15 pounds per square inch. The difference of 2 pounds per
square inch between the inside and outside pressure may not seem like much. But suppose a tornado
funnel passes over a small building that measures 20 by 10 by 10 feet. On each square inch of the
building, there is 2 pounds of pressure from the inside that is not balanced by air pressure outside the
building. On the ceiling, that adds up to an unbalanced pressure of 57, 600 pounds. The pressure on
the four walls adds up to 172,800 pounds.

If windows are open in the building, some of the inside air will rush out through them. This will
balance the pressure inside and outside the building. But if the windows are shut tightly, the
enormous inside pressure may cause the building to burst.

Unfortunately, heavy rain and hail often occur in thunderstorms that later produce tornadoes. So,
people frequently shut all windows to protect their property. This may cause far worse damage later.
For the same reason, tornado cellars must have an air vent. Otherwise, the cellar door might be
blown out when a tornado passes over it.

66-Which of the following is the main topic of the passage?
1) How tornadoes can be prevented
2) When tornadoes usually occur
3) Where tornadoes are formed
4) Why tornadoes cause so much damage
67-According to the passage, tornadoes can destroy buildings because the ... .
1) force of a tornado increases the air pressure in a building
2) air pressure at the center of a tornado is over 172,000 pounds
3) weight of a tornado can crush a building’s roof when it passes overhead
4) air pressure inside a tornado is less than the air pressure inside a building
68-The pressure on a building during a tornado can be relieved by ... .

1) closing the cellar 2) opening the windows

3) using a fan for ventilation 4) strengthening the roof and walls
69-According to the last paragraph, people close their windows to prevent damage caused by ... .

1) tornadoes 2) thunderstorms

3) uprooted trees 4) bursting structures
70-What does the word “it” in paragraph 4 refer to?

1) cellar door 2) tornado

3) air vent 4) wind
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